REBXFOELUE bigAOO8-(1)

1 442= 1144 3=

21 3+ 3= sl 144 =

33+ 5= 9] 24+ 3=

119+ 2= 100 142 =

5 3+4= 1 542=

6] 3+2= 2 545=
BT Qi
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REBXFOELUE bigAOO8-(2)

13+ 3= 11 3+4=

224+ 1= 8 3+ 5=

31444 = 0/ 4+ 5=

113+ 2= 100542 =

5144 1= 144 1=

6 1+ 1= 2 544=
BT Qi
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REBXNFOELUE bigAOO8-(3)

142= 11545 =
2 14 3= s 14+ 3=
3 3+3= 9] 24+ 3=
s 1+1= 10024 5=
51 44 9= 1 144 =
6] 9+ 2= 120 942 =
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ARERNFORE LE 2)|=>| 7134+3= 6 134+4= 7
PIEAtEE 212+1=3 [513+5=8
[ R ] 3/44+4= 8 9/44+5=9
4/34+2=95 [10d+2=7
(1) 3 5/4+1=5 [144+1= 35
} ~ E1+1=2 [25+4=9
1144+2= 6 11443= 7 1114+2=3 115+5= 10
223+3=06 s 14+4= 5 214+3=4 s 14+3= 4
3/3+5= 8 9/24+3= 5 313+3= 6 9/24+3= 5
49+2=7 [1014+2=3 d1+1=2 [10245=7
5| 3+4=7 [115+2=17 5/14+5=9 [1/1+4= 5
6 3+2=95 [25+5= 10| 6/54+2=7 [2242=4
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